    Ch 334  -  Quiz 6  (take-home)

    due 9:05am, Wed. 11/29/00 
      Name (please print)









 (44 points)  

(No part credit. Answers must be meticulously correct in every detail.)

1. (6) Use clear Haworth projections to draw all possible stereoisomers of the compound below. Label them a, b, c, etc., and indicate which represent pairs of enantiomers and pairs of diastereomers.
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2.  (7)  The two diols shown below in Haworth projection, considered as a related pair, are:
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3. (3)  Refer to the following reaction:
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a)  If the starting material has the S configuration, the product will be (circle one):
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b) If the starting material is dextrorotatory, the product will be (circle one):
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4. (12) Complete the following reactions, showing stereochemistry clearly for those marked with a star ().

            (D = deuterium.)
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5. (16) Write mechanism for the following. Show individual steps clearly, include formal charges, and use correct electron pushing. (The use of the symbol H+ is unacceptable.)
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